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The following is a single replacement reaction:

Ag + BaCl2 →
predict the products and balance the equation



6

dicarbon hexahydride experiences incomplete
combustion. Write the equation and balance it.
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NaMnO4 + H2O2 + H2SO4 → MnSO4 + Na2SO4 + O2 + H2O
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a) Write the equation for when dinitrogen trihydride decomposes

b) Balance it



9

Write and balance the follow double replacement reaction:

copper(II) sulfide + zinc hydrogen carbonate ­­>



10

sulfur + oxygen (O2) ­­> disulfur monoxide

Write and balance the following equation. What type of equation is it?
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